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Instructions ;
1) All questions are compulsory.

) This question paper has o parts - Part-A and Part-B

) Part-A consists of 20 multiple choice questions of onc mark each thay
have to be answered on OMR Answer Sheet,

W] For Part-A read the question-wise instructions and mark your answer on
the given OMR Answer Sheet only. Do not erase, cul or use whitener on

the OMR Answer Sheet after answering,
v) Marks of the questions are mentioned against them.
vi) Part-B consists of descriptive type questions of 50 marks
‘) All the questions of Part-B are to be attempted all at a ime

vinj - Start from the first question and go up to the last question. Do not waste

vour time on the question you cannot solve

avg - ¥
Part-A
( TEfawmitg ur )
{ Multiple Choice Questions )
fade o9 W 1 A 20 TEEEm § o Gt e 8 ooew # 9w

fwfers 3w fan o ¥ I @ W TEEeT 9T wRER Ale UHo Mt

Ieit wAd W fEA &

Question Nos 1 to 20 arc Multiple Choice Type. Four alternative
answers are given in each question. Select the correct alternatives
out of them and mark them in OMR Answer Sheet serially.

Instruction

l. ez FEE fe 3wam fem A d 2

(B) % st fag & a @i RS e
(C) o SatE T F A R T
(D) ax T W 9 ) Rard O e
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3 829
I. What s the trial balance Used for ?
(A)  Itis finanvial stitemen,
(B8] It records thie balance of katance sheet

(€1 It does not contribute 4 the accounting cycle

(D) Wrecords balance of atcounts |
2. FHW I

(A)  utsaiEe T (B) AATER A

() @fFm w (D) ¥ & wiE A 1

2. Qutstanding salary is

(Al Real Account (B} Nominal Account

(C}  Personil Account (D} None of these l
3. wAm ftad &% F T w9 S

(A) 1955 (B) 1949

(C) 1935 (D) 1964 ]

3. When was Reserve Bank of India established ?

(A) 1955 (B 1949

IC} 1935 (D} 1964 1
a4 fafmm jama st femm @ 2

(A) PR (B} ¥mR

(€) aF (D) ¥R % = !

4., Who draws a bill of exchange ?
(A) Creditor (B) Debtor

(C) Drawer {D) None of these 1
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5. uta-ah e ferpre], Y, s O 3% S i ) b 7
Ay aw weie (B)  #rg med s
(C)  mmen &7 aeh sl (D) wEfim nail |
3. Which machine prints nddresses 0N envelopes, wrappers, newspapers ete, ?
(A} Fax machine (B}  Adding machine

(C)  Calculating machine (D) Addressing machine l
6. Fr=fefam & @ a%9.m w3 dur w o @ w7 A 2

(A)  Fawmim siER (B) {3 arm

(€) wEfamwd smen v D) wfaaa = !

6. Which of the following is not a form of Large Scale Trading ?
(A} Departmental store (B)  Supermarket

(C) Multiple chnin store (D) Provision store
7. W w1 3[E F) 2o € G Fifoy ad oh fefig e ol 9

(A)  TTE & T & WOY 9 IUE T @ fEal fef
(B)  ¥fom ura e &) fafy
(C) W& & wave @ &k
(D) ¥ A & T
7.  What shall be the due date to issue invoice in case of supply of goods ?
(A)  Any date before or at the ume of removal of goods
(B) Date of receipt of advance
(C} Date of provision of goods

(D) None of these

8. mqummﬁmfaﬂﬁﬁﬂwat

(A) v fod & gm (B) ®zZ d& 3% ifgm gmr.
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g8 Cleanng bousean India, |y adtmy petered by
s -

(A) Reserve Dank of Indi, B State Bank of Indin

(C) Some Nationalised Minks (1 All of these |
g wET T 9 2

(A) w4 B) TN

€) A EE (D) F A FEm A 1

9. Reserve Bank of India s

(A) commercial bank (B) clearning huuse

(€ minun bank (1) centra! bank of the country 1
10, ywifeEe 4% w1 27 = 9 ofrads 5 anen w

(A) & EEEm & gl s () e A gE

IC) T G 1w A D) )
10 Reason for conversion of Imperial Bank into State Bank was

{A)  Negligence of ugriculture business

(B)  AMisuse of power

IC]  Faults in brunch opening policy

(D1 Al of these l
11. =eF a5 F1 &1 ¢

(A) T2 wEEE S B} WM T F

(C) A & F OO T W (D) TR E 1
11. Function of commercial bank is

[A) accepting deposits IB)  providing loan

(C) functioning as agency Dy all of these i
12, Fr=tfalga § @ F99-9 290 997 %1 sl 7 ara R 2

(A)  TEERAF B ErEA

) V= FrFE I (D) & it & 1
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12. Among the following which en€ €@mes under the class of indigenous

banker ¥

(A)  Co-operative Bank (B) Mahajon

(€)  Land Development Bank (D)  Regional Rural Bank !
13, d5 w7

(A) % sfir (B) = wwn

(€} & wwla (D) & vl 1
13. What 1s Bank ?

(A} An Individual (B)  An Institution

(C) A Committee (D) Al of these 1
14, 3mtfren FmEgeE: W d

(A)  wf= R (B) EyTEeE @

(C}y I @ (D) T F w

14. Unlty is generally related to

(A)  Satisfaction (B) Necessity

(C}]  Usclulness (D}  None of these
15 fr=rfeifaa 0 @ dm= 3gginn am fen T s s & 9

(A) WM & Fran B) wary & famm

() 9A & fqam (D) % & &3 78

15. Which one of the following is the basis of diminishing marginal utility ?
(A) Law of Demand (B) Laws of Returns
(C)  Law of Supply (D)  None of these
16, & 3 T & §F 6 v A F@0e
(A) T g R B) =A== w7 b
¢ f@dwmfEmawEmt ) @A @i
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16, We should Keep ur savings wigp | pecase it
1anks o

{A)  is sale
(B carms interest

(€1 can be withdrawn any time (D} all of thesc 1
|7. 9% A F TS F=) R
(A) AN T T
(C) (A} 3T (B) Zi ) ) @ w1 TR 1
17. Bank pays interest on
(A} Deposits . @) Loans
(C) Hoth (A)and (B) D}  None of these 1
18, foad fm =m Fm
(A} WHA JHET QM \B) =T T
(€) Al 3uEs g ) Wl @27 &% 3 !
18. Coins are issued by
(A}  Government of India (B) NABARD
iCj) Public secior (D) State Bank of Indin i
{a. sf=m e @ orE
(A) @ aE (B &
() faaqm (D) s fEm 1
1. Final Account 1s afan
. {A) Ledper (B  Account
(C) Statement (D}  Account and Statement |
20 i a1 s weEw EA R ?
A) 1 B 2
€y 3 Dy 4 !
20. How many parties are there in promissory note ?
1A) | B 2
) 3 (D) 4 1
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A

gy - g
Part- g
( s 9 I gy )
{ Very Short AnSWer Type Questions ) 5%2+10

W s @ 3w w7
What do you understand by contingent liabilities ?
Fﬁmﬁmffaﬁﬁmﬁm’:ﬁhﬁmt )
In how many ways is a bill of exchange accepred ?

Wﬁqhﬁhmmhﬁﬂaﬁfﬂdwﬁk?

What are the normal banking functions performed by Reserve Bank of
india ?

UFH omEam =) favmmy fefgd

Write the characteristics of sole trading.

mmﬁaaﬁmﬂmmwwwﬁﬁ;mﬁmﬂﬁmmfmtﬁmi \

Explain about the machine which records the time of arrval and departure
of an employee.

( ] TR WA )
( Short Answer Type Questions ) dx4= ¢
Fafvs v ) gfvet &1 = St
Explain various types of Hundjes,

WiF =D 3 e e § 3 Wi |

Diflerentiate between wholesale treder and sole trader.

e d% #t Fiaama =haa

Write the difficulties of commercial banks.

=g N T97 F g0 FHAT

Describe expenditure and saving.
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(N 3y g7 )
( Long An“uw Questions | 3 «8=24
10. o T TH T 3= F7 3y ong 202135;;:,—._,—.,;'73;,-;13&;1%2%%:??;1

TR .mma&mu-ﬂ%wﬁﬁ,ﬁ@a, s, 2022 ¥ Fg
¥ (] .-I 1]

: * Far w 3+a
_(;:T‘"""* | (Fe) |
A | s, 2021 16000 #F 1,30,000
e 90—;3:;": i ‘ BOO I
T U | I;;OH;;; | 400_.
| Fae A _‘_ 600 FETE 750 |
P—fn;_ 1,500 :.-;-:—T;.—.*z RN _" 4021
SIS 9y ' | 2600 32,000
o | 8200, % W W , 4,400 |
¥R T | 300 | | 11,600
&R | 17,000 %3 fm ] 2,000 1|
a1 24,00_0_1 ||
ST 10,000 | |
ST ~ 4,000 | |
o firet 4,500 |
—— —
- 1,400 | | |
1,82,350 | - 1,82,350 |
fieT wRTGTA SETOE €

(31) 3199, 0022 & H=4 EaT $o 12,000 9 1
(3) ot TX WHEE = 5% F
(7) 79 & o 800 I &= ©T |
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(2) it 4 a0 js0 e T
(@) segr g e, sty melalt W W0 W7 wgen @ sreing wim & ford g T
, e g IRk

My
-} & X
sifarm ant an aen st 22 P8 P Sam wnd o auf afiver fem o & 2
3+ 5

T %, B, fe MM

10. Below is gaven the Trial 1lan® 0F Shei Ghanashyam Das & Brothers in
respect of the sear ending It Mureh, 2022, Prepare his Trading and

Profit & Loss Aceount for the YO 2000 40d iy Balance Sheet as on that

date : _ ) 4+4
‘1 B ﬁ] (Rs.) I“R”
| Stock Ist Apnl. 2021 16,000 | sules - __ 1,30,000
j Purchase 90,000 | Putchase Returns I BOO |
E Carnage Inward _1 .?'_5[1 | Discount 400
Sales Return | 600 ! Cuammission l _ _ 75&\
Insurance 1,500 | Provision  for Bad |
| L | detes 400
Trade Expenses ) 3,600 l Caprtal : EJ,IE
| Salunes __"_H.._’.U{_ll Bunk Loan 4,400 |
Bad debts e :3(1(1 L l:l':‘ﬂ()rs I 11,600 |
Deblors L I'f'.(i':JU Hills Payable 2,000 .
Building 24,000 |
Machinery 10,000 - o
| Drawings B 4.000 N
Bill Receivable | 4.300
Cash L 1.400
| une23%s0 1,82,350

Following adjustments are necessary

{H, clusing Ht“l.k on alst Mm’fh. 2022 wis r{s 12.000
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11
by Iterest Geh9% p g
P on capiny
[} Oulstanding salary
: w
. if Ry mm
d) Insurnnce prepaid Ry 150
e} Depreciation lo be done on buiding 2%, & on machinerny 10¢%,
ul
1ed but

Provision for Doubtiul dely ony debtors 50, commissien car

not received Rs. 200.

ORr
Balance Sheet included 1n final

What 15 meant by Final Account 2 ywhy 15
! 3+5

pocetints 2
(1, B sITR TAREA, AT A Fie e AR FAT g S w1 wA R

(i) 10 T W (I 18 G g BfEw #@T ¥y @t Fo 70 WA TFA

(i 7 A “dorz wfom dAC (v 99 8 200 fed 1 252 WA &) W
Fo N0 TH THS T

(iif) 32 21 “TrEm wmfa 0 ( was 79§ fam), 9 Fe 35 afa fFoT |

(iv) 12 B2 EmEE T e (neds W R 10 ofF @R }). = Fo 65 WA TAF

T & 73 %% TS 2 T r

BT WA W - (o) e §o 12 WA 441 mRE W OR B 2 v 21,

(b) I ST e RO, (c) TF WS- Fo 320 A () €A Fe 120

Fage faaon & im0 3TA W % dog AT AT | °
sram
A% & rlea @ s @ AEEA § 2 R AW Al 7 A

11 M/s Ashoka Agencics, Lucknow, sends the following goods to M/s
Kanaujia Prothers of Faizabad :
(il 10 Boxes "Ganga®™ Soap (Every box contains 120 pieces of soap)
‘@ Rs. 70 per dozen.
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L“'I““ Dy-

() 7 Boxes “Parachuic Coe Every bax contams 253 buottles of

. 40z
200 ml each) iz Ra s pet SN Gl bagyle

. ghee _
(i) 32 Tin “Dalda’ vanaspat R (Even, Lnof 5 kg, w Rs 35 per kg

« sy | :
fiv] 12 Boxes of ‘Lifcbuoy SOaP 1Bach hox contains 10 doren of soaps

T, rfudg

G@ Rs 65 per dozen ¢ discount 1y avalable for customers

While sendmg goods (@) Parking charges Ba 12 per box, Dalda ghee
i Kx 2 per tn, (b Cart® = Ra KO, o) Radway treghs - Rs 320
and [d) Insurance expense? Ns 120

On the basis of above detail PEEPYTE an invoice in proper format "

ORrR

What do vou understand by c1O85mg of cheque 2 Write the types of 1t

44
12 eduwe oot g & Ernr o s, 6% it Tt -
sun
a7 S & o a0 ) eamn wTAT ) o v 8 pEE g e R
Tede2
12, State and expliin the law of duminishing marginal utihity A

OR

Explmn the advantages and disadvantapes of indigenous banker What s

its importance in our country ? AR
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